Geometry - Trigonometry Cosine Rule

Q1
WXYZ is a trapezium.

Redane e NOT TO SCALE

Calculate WY.
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Geometry - Trigonometry Cosine Rule

Q2
P > 14 cm 0
8 cm
] 62°
S > R

PORS is a trapezium.
PQ is parallel to SR.
Angle PSR = 90°.
Angle PRS = 62°.
PO =14 cm.

PS =8 cm.

(a) Work out the length of PR.
Give your answer correct to 3 significant figures.

(b) Work out the length of OR.
Give your answer correct to 3 significant figures.
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Calculate WY. Cosine Rele a 2b +c —2becsh
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> = 112,631
2 = 63l

o= 10.6 cm L 3 s. £.
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Q2
P > 14 cm 0
. ZQfR = €2°
e <A‘v. | e rnat e an(&.f ar€
equa| )
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PQRS is a trapezium. s
PQ is parallel to SR. 9, Sin 22 = 8
Angle PSR = 90°. _ oz
Angle PRS = 62°. Vo= VL
PO =14 cm. -
PS =8 cm. 4 = 9.0 e~ bk I st

(a) Work out the length of PR.
Give your answer correct to 3 significant figures.

9.06
............................... cm
3
(b) Work out the length of OR.
Give your answer correct to 3 significant figures.
Cosine vvle at = br 4t = 2becosh
6
Al = 0L 414"~ 2x9.06 x 14 x cosb
Qr* = 152,988
Qe = [is8.4982
= [2_.4: Cim e 35‘{
O 2.6
............................... cm



